Van Wingerden Greenhouses Availab	ilit∖	V
-----------------------------------	-------	---

Week 16

FAX: 360-366-3911

PHONE: 360-366-3906

Contact Name: Customer:

Requested Ship Day:

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
Herbs & Veggies							
10" Strawberry Hanging Basket		single	1	\$13.00	\$13.00	0	\$0.00
4" Herb - Basil		flat	10	\$1.75	\$17.50	0	\$0.00
4" Herb - Bonsai Basil		flat	10	\$1.75	\$17.50	0	\$0.00
4" Herb - Mint Spearmint		flat	10	\$1.75	\$17.50	0	\$0.00
4" Herb - Oregano		flat	10	\$1.75	\$17.50	0	\$0.00
4" Herb - Rosemary Barbeque		flat	10	\$1.75	\$17.50	0	\$0.00
4" Herb - Sage		flat	10	\$1.75	\$17.50	0	\$0.00
4" Herb - Thyme		flat	10	\$1.75	\$17.50	0	\$0.00
4" Strawberry - Montana		flat	10	\$1.65	\$16.50	0	\$0.00
5" Vegetables Brussel Sprouts		flat	8	\$2.35	\$18.80	0	\$0.00
5" Vegetables Kale Scarletbor		flat	8	\$2.35	\$18.80	0	\$0.00
5" Vegetables Kale Snowbor		flat	8	\$2.35	\$18.80	0	\$0.00
5" Vegetables Lettuce Buttercrunch		flat	8	\$2.35	\$18.80	0	\$0.00
5" Vegetables Lettuce Red Oak Leaf		flat	8	\$2.35	\$18.80	0	\$0.00
5" Vegetables Lettuce Romaine Parris Island		flat	8	\$2.35	\$18.80	0	\$0.00
6" Herb - Crisp Basil		flat	6	\$4.00	\$24.00	0	\$0.00
6" Herb - Crisp Bonsai Basil		flat	6	\$4.00	\$24.00	0	\$0.00
6" Herb - Crisp Rosemary		flat	6	\$4.00	\$24.00	0	\$0.00
Als Flower Pouch - Strawberry		single	1	\$12.50	\$12.50	0	\$0.00
Jumbo Pack Vegetable Broccoli		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Brussel Sprouts		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Cabbage		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Cauliflower		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Kale Scarletbor		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Kale Snowbor		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Lettuce Buttercrunch		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Lettuce Red Oak Leaf		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Lettuce Romaine Parri	s Island	flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Peas Sugar Snaps		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Vegetable Spinach		flat	6	\$2.52	\$15.12	0	\$0.00
Spring Bedding							
2.5" Fuchsia Starts		flat	32	\$0.77	\$24.64	0	\$0.00
4" Bulb - Daffodil - Tete a Tete		flat	10	\$2.60	\$26.00	0	\$0.00
4" Bulb - Hyacinth		flat	10	\$2.60	\$26.00	0	\$0.00
4" Bulb - Tulips		flat	10	\$2.60	\$26.00	0	\$0.00
Jumbo Pack Annuals Alyssum Mix		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Alyssum White		flat	6	\$2.52	\$15.12	0	\$0.00

Van Wingerden Greenhouses Availability	Week 16	Contact Name:	
	FAX: 360-366-3911	Customer:	

PHONE: 360-366-3906 Requested Ship Day:

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
Jumbo Pack Annuals Assorted		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Begonia Bronze Leaf		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Begonia Green Leaf		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Coleus		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Dusty Miller		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Hypoestes		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Lobelia Regatta		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Marigold French		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Pansy		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Petunia		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Portulaca		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Salvia Blue		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Stock		flat	6	\$2.52	\$15.12	0	\$0.00
Jumbo Pack Annuals Viola		flat	6	\$2.52	\$15.12	0	\$0.00
4" Basic Annuals							
4" Pansy - Assorted		flat	10	\$1.65	\$16.50	0	\$0.00
4" Premium Annuals							
4" Premium Annuals Bacopa White		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Begonia Non-Stop		flat	10	\$2.20	\$22.00	0	\$0.00
4" Premium Annuals Bidens		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Calibrachoa Assorted		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Coleus ChargedUp Cole	osaurus	flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Coleus ChargedUp Infer		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Coleus Electric Lime		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Coleus Flamethrower Cl	nipotle	flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Coleus Indian Summer		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Coleus Lava Rose		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Coleus Vino		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Coleus Volcanica French	Quarter	flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Creeping Charlie		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Creeping Jenny		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Dichondra		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Dracaena Spike		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Euphorbia		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Heliotrope		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Ipomoea Black		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Lobelia Magadi		flat	10	\$2.60	\$26.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 16	Contact Name:	
	FAX: 360-366-3911	Customer:	
	PHONE: 360-366-3906	Requested Ship Day:	

PHONE: 360-366-3906 Minimum Order is \$700 or \$100 shipping charge

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
4" Premium Annuals Nemesia Whimsy Assort	ed	flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Amazonas Plum	-	flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Assorted		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Bees Knees		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Black Magic		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Cascadias Arizor	na Sky	flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Easy Wave Asso	rted	flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Midnight Sky		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Night Sky		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Pink Sky		flat	10	\$2.60	\$26.00	0	\$0.00
4" Premium Annuals Petunia Starry Sky Burgu	ındy	flat	10	\$2.60	\$26.00	0	\$0.00
4" Ranunculus Asst		flat	10	\$2.75	\$27.50	0	\$0.00
4" Zonal Geranium - Assorted		flat	10	\$2.60	\$26.00	0	\$0.00
4" Zonal Geranium - Dark Red		flat	10	\$2.60	\$26.00	0	\$0.00
4" Zonal Geranium - Dark Salmon		flat	10	\$2.60	\$26.00	0	\$0.00
4" Zonal Geranium - Hot Pink		flat	10	\$2.60	\$26.00	0	\$0.00
4" Zonal Geranium - Light Pink		flat	10	\$2.60	\$26.00	0	\$0.00
4" Zonal Geranium - Pink Flare		flat	10	\$2.60	\$26.00	0	\$0.00
4" Zonal Geranium - Scarlet		flat	10	\$2.60	\$26.00	0	\$0.00
4" Zonal Geranium - Violet		flat	10	\$2.60	\$26.00	0	\$0.00
4" Zonal Geranium - White		flat	10	\$2.60	\$26.00	0	\$0.00
4" Zonal Geranium- Orange		flat	10	\$2.60	\$26.00	0	\$0.00
Perennials Assorted							
4" Perennial - Papaver		flat	10	\$4.10	\$41.00	0	\$0.00
5.5" Perennials Aquilegia Earlybird Mix		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Bellis Bellisima Mix		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Carex Colorgrass Red Rooster		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Carex Evercolor Eversheen		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Coreopsis Uptick Bronze and G	Gold	flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Geum Eos		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Grass Festuca Festina		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Heuchera Bilberry		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Heuchera Palace Purple		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Hosta Albomarginata		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Hosta August Moon		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Hosta Elegans		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Hosta Frances Williams		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Japanese Painted Fern		flat	8	\$5.40	\$43.20	0	\$0.00

Van Wingerden Greenhouses Availability	Week 16 FAX: 360-366-3912	1	Contact N				
	PHONE: 360-366-3			d Ship Day:			
Minimum Order is \$700 or \$100 shipping cha		3900	Requested	a Silip Day.			
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Tota Price
5.5" Perennials Lavandula Stoechas Primaver	a	flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Milium effesum		flat	8	\$5.40	\$43.20	0	\$0.00
5.5" Perennials Papaver Champagne Bubbles		flat	8	\$5.40	\$43.20	0	\$0.00
6.5" Perennial Papaver		flat	6	\$5.40	\$32.40	0	\$0.0
6.5" Perennial Shrubs and Trees - Boxwood		flat	6	\$9.25	\$55.50	0	\$0.0
6.5" Perennial Shrubs and Trees - Picea Glaud	ca Alberta Spruce	flat	6	\$9.25	\$55.50	0	\$0.0
6" Perennial Hellebore Ice N Roses - White		flat	8	\$9.25	\$74.00	0	\$0.00
5.5 Premium Annual							
6.5" Premium Annual Begonia Non-Stop		flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Calibrachoa Caliloco Gi	raffiti	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Calibrachoa Calitastic C		flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Calibrachoa Candy Sho		flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Calibrachoa Chameleo	n Pink Splash	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Calibrachoa Minifamou	us Uno Ember Eclips	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Coleus ChargedUp Can	npfire	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Coleus Skeletal		flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Dahlia Dalaya Assorted		flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Nemesia Escential Seri		flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Petunia Crazytunia Blad	ck and White	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Petunia Crazytunia Blad	ck Mamba	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Petunia Crazytunia Cos	mic Purple	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Petunia Crazytunia Cos	mic Violet	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Petunia Crazytunia Mo	onstruck	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Petunia Crazytunia Pin	k Flamingo	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Petunia Dbl Stuff Series	s	flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Petunia Painted Love		flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Petunia Ray Shadow		flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annual Zonal Geranium		flat	6	\$5.05	\$30.30	0	\$0.0
6.5" Premium Annuals Osteospermum		flat	6	\$5.05	\$30.30	0	\$0.00
Cacti and Succulents in Ceramics (Concre	te pots also availa	ble) - Ind	loor & Outo	door			
2.5" Cactus - Assorted in Ceramic		flat	24	\$4.00	\$96.00	0	\$0.0
2.5" Succulent - Assorted in Ceramic		flat	24	\$3.45	\$82.80	0	\$0.0
8" Ceramic Cactus Bowl		single	1	\$19.50	\$19.50	0	\$0.0
8" Ceramic Succulent Bowl		single	1	\$19.50	\$19.50	0	\$0.0
Hanging Baskets & Planters							
12" Color Bowl		single	1	\$11.20	\$11.20	0	\$0.0
	i I		_	,	,	-	70

Van Wingerden Greenhouses Availability	Week 16		Contact N	ame·			
van vringerden Greenhouses Availability	FAX: 360-366-391	1	Customer				
	PHONE: 360-366-3906			d Ship Day:			
Minimum Order is \$700 or \$100 shipping ch		3300	ricquestet	a simp bay.			
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
12" Dahlia Assorted		single	1	\$20.00	\$20.00	0	\$0.00
12" Easter Basket Centerpiece		single	1	\$12.75	\$12.75	0	\$0.00
12" Premium Annual Hanging Basket		single	1	\$20.00	\$20.00	0	\$0.00
12" Premium Annual Planter		single	1	\$20.00	\$20.00	0	\$0.00
12" Premium Annual Shade Basket		single	1	\$20.00	\$20.00	0	\$0.00
8" Premium Planter		single	1	\$11.20	\$11.20	0	\$0.00
Als Flower Pouch - Begonia		single	1	\$12.50	\$12.50	0	\$0.00
Als Flower Pouch - Primrose		single	1	\$12.50	\$12.50	0	\$0.00
Als Flower Pouch - Viola		single	1	\$12.50	\$12.50	0	\$0.00
Early Spring Centerpiece		single	1	\$12.75	\$12.75	0	\$0.00
Easter Lily							
6" Easter Lily		flat	6	\$8.20	\$49.20	0	\$0.00
Cacti and Succulents							
10" Succulent Bowl		single	1	\$17.00	\$17.00	0	\$0.00
16" Succulent Bowl		single	1	\$28.30	\$28.30	0	\$0.00
2.5" Cactus - Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Cactus Assorted 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
2.5" Succulent - Gasteria Flow		flat	32	\$2.95	\$94.40	0	\$0.00
2.5" Succulent- Assorted 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
4" Succulent Aloe Aristata		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Assorted		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Crassula Curly		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Crassula Ovata - Jade Plant		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Assorted		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Corvus		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Mensa		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Setosa		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Echeveria Topsy Turvy		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Gasteria Flow		flat	10	\$3.30	\$33.00	0	\$0.00
4" Succulent Sedum Coppertone		flat	10	\$3.30	\$33.00	0	\$0.00
6" Cuddly Cactus		flat	6	\$10.00	\$60.00	0	\$0.00

# **Large Tropicals**

12" Tropical Anthurium	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Areca Palm	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Assorted	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Calathea Ctenanthe Golden Mosaic	single	1	\$22.10	\$22.10	0	\$0.00

Van Wingerden Greenhouses Availability	Week 16	Contact Name:	
	FAX: 360-366-3911	Customer:	
	PHONE: 360-366-3906	Requested Ship Day:	

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
12" Tropical Dieffenbachia Assorted		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Lemon Lime		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Dracaena Marginata		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ensete Maurelii - Red Banana		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Benjamina Tree		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Elastica		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Elastica Burgundy		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Elastica Ruby		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Lyrata Bambino		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Ficus Tineke		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Hibiscus		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Joshua Tree Yucca		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Majesty Palm - Ravenea rivularis		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Mixed Planter		single	1	\$30.00	\$30.00	0	\$0.00
12" Tropical Musa Banana Plant		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Philodendron Hastatum Grey Toto	em	single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Philodendron Mexicanum		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Sansevieria Assorted		single	1	\$22.10	\$22.10	0	\$0.00
12" Tropical Strelitzia White Bird of Paradise		single	1	\$22.10	\$22.10	0	\$0.00
8" Spathiphyllum Indoor		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical - Assorted		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical - Philodendron Hope		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Ficus Elastica Ruby		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Monstera Deliciosa Tauerii		single	1	\$16.50	\$16.50	0	\$0.00
8" Tropical Philodendron Black Cardinal		single	1	\$16.50	\$16.50	0	\$0.00
Tropical Ferns - Indoor							
2.5" Tropical Fern Assortment		flat	32	\$2.50	\$80.00	0	\$0.00
4" Tropical Fern - Assorted		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Autumn		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Birds Nest		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Boston		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Button		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Cretan Brake		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Eyelash		flat	10	\$3.30	\$33.00	0	\$0.00
·		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Heart		flat	10	\$3.30	\$33.00		\$0.00
4" Tropical Fern - Maidenhair						0	
4" Tropical Fern - Sickle		flat	10	\$3.30	\$33.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 16 FAX: 360-366-391: PHONE: 360-366-3	FAX: 360-366-3911		Contact Name: Customer: Requested Ship Day:			
Minimum Order is \$700 or \$100 shipping ch			riequestee	zomp zay.			
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
4" Tropical Fern - Silver Brake		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Staghorn		flat	10	\$3.30	\$33.00	0	\$0.00
4" Tropical Fern - Tricolor		flat	10	\$3.30	\$33.00	0	\$0.00
6.5" Tropical Fern - Boston		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Maidenhair		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern - Silver Lace Brake		flat	6	\$6.00	\$36.00	0	\$0.00
6.5" Tropical Fern Assorted		flat	6	\$6.00	\$36.00	0	\$0.00
8" Boston Fern Hanging Basket		single	1	\$10.15	\$10.15	0	\$0.00
Tropical Hanging Baskets							
4" Tropical Assorted Hanging Basket		flat	10	\$5.50	\$55.00	0	\$0.00
Tropicals - Collectors							
2.5" Tropical Philodendron Quad Color		single	1	\$7.50	\$7.50	0	\$0.00
2.5" Tropical Philodendron Ring of Fire		single	1	\$7.50	\$7.50	0	\$0.00
4" Tropical Philodendron Atabapoense		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Billietiae		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Mayoi		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Pink Princess		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Quad Color		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron Ring of Fire		single	1	\$10.00	\$10.00	0	\$0.00
4" Tropical Philodendron White Wizard		single	1	\$10.00	\$10.00	0	\$0.00
6.5" Tropical Alpinia Zerumbet Variegata		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Anthurium Jenmanii		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Aralia Fabian		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Homalomena Camouflage		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Olea Europaea Olive Tree		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Philodendron Atabapoense		single	1	\$15.00	\$15.00	0	\$0.00
6.5" Tropical Philodendron Ring of Fire		single	1	\$15.00	\$15.00	0	\$0.00
6" Pachira-Money Tree Braided		single	1	\$15.00	\$15.00	0	\$0.00
8" Tropical Collector Pachira - Money Tree I	Braided	single	1	\$25.00	\$25.00	0	\$0.00

1

1

1

1

single

single

single

single

\$25.00

\$25.00

\$25.00

\$25.00

\$25.00

\$25.00

\$25.00

\$25.00

0

0

0

0

\$0.00

\$0.00

\$0.00

\$0.00

# Tropicals - Premium

8" Tropical Collector Philodendron Pink Princess

8" Tropical Collector Philodendron Ring of Fire\_

8" Tropical Collector Philodendron White Wizard

8" Tropical Collector Zamioculcus Zamifolia ZZ Plant

Van Wingerden Greenhouse:	: Availabilitv
---------------------------	----------------

Week 16

Contact Name: Customer:

PHONE: 360-366-3906

FAX: 360-366-3911

Requested Ship Day:

Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
2.5" Tropical Assortment 6 Pack		single	1	\$15.00	\$15.00	0	\$0.00
2.5" Tropical Foliage Assorted		flat	32	\$2.95	\$94.40	0	\$0.00
4" Tropical Alocasia Mickey Mouse		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Beauty Star		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Freddie		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Lancifolia		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Calathea Roseopicta Silver Plate		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Club Moss Gold		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Dracaena Janet Craig Compacta		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Episcia Flame Violet Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Ficus Elastica Ruby		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Hypoestes - Polka Dot Plant		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Maranta Leuconeura		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Monstera Siltepecana		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Neanthe Bella Palm		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Peperomia Santorini		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Assorted		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Choco Red		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Green Princess		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Prince of Orange		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Philodendron Rugosum Aberrant		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Pilea Peperomioides		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Sansevieria Robusta		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Spathiphyllum-Peace Lily		flat	10	\$4.30	\$43.00	0	\$0.00
4" Tropical Syngonium White		flat	10	\$4.30	\$43.00	0	\$0.00
6.5" Anthurium Indoor Red		flat	6	\$9.30	\$55.80	0	\$0.00
6.5" Tropical Alocasia California		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Alocasia Dwarf Calidora-Elephar	nt Ear	flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Assorted		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Assortment		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Golden Mos	saic	flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Ctenanthe Setosa		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Maui Queen		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Orbifolia		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Calathea Roseopicta Medallion		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Chlorophytum - Spider Plant		flat	6	\$7.00	\$42.00	0	\$0.00

Van Wingerden Greenhouses Availability	Week 16		Contact N	ame:			
	FAX: 360-366-391		Customer:				
	PHONE: 360-366-3906		Requested Ship Day:				
Minimum Order is \$700 or \$100 shipping char	ge						
Product Name	Order Quantity	Unit Type	Ea Per Unit	Each Price	Unit Price	Total Eaches	Total Price
6.5" Tropical Dracaena Janet Craig Compacta		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Dracaena Marginata		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Ficus lyrata - Fiddle Leaf Fig		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Peperomia Polybotrya Raindrop		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Peperomia Watermelon		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Philodendron Hastatum Grey		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Sansevieria Zeylanica		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Spathiphyllum - Peace Lily		flat	6	\$7.00	\$42.00	0	\$0.00
6.5" Tropical Zamioculcas Zamiifolia ZZ Plant		flat	6	\$7.00	\$42.00	0	\$0.00
Tropicals - Rare							
12" Tropical Monstera Thai Constellation		single	1	\$60.00	\$60.00	0	\$0.00
12" Tropical Zamioculcus Zamifolia ZZ Plant		single	1	\$60.00	\$60.00	0	\$0.00
2.5" Tropical Monstera Deliciosa Thai Constell	ation	single	1	\$20.00	\$20.00	0	\$0.00
4" Tropical Alocasia Frydek Variegated		single	1	\$30.00	\$30.00	0	\$0.00
4" Tropical Monstera Thai Constellation		single	1	\$30.00	\$30.00	0	\$0.00
4" Tropical Philodendron Burle Marx Variegata	a	single	1	\$30.00	\$30.00	0	\$0.00
6.5" Tropical Monstera Thai Constellation		single	1	\$40.00	\$40.00	0	\$0.00
Tropicals with Upgrades - Indoor							
2.5" Tropical in Ceramic		flat	24	\$3.45	\$82.80	0	\$0.00
4" Tropical - Assorted in Ceramic		flat	12	\$6.30	\$75.60	0	\$0.00
4" Tropical - Assorted in Ceramic with Pot Star	nd	flat	8	\$8.30	\$66.40	0	\$0.00
4" Tropical Assorted in Rope Pot		case	12	\$6.30	\$75.60	0	\$0.00

single

single

flat

flat

single

single

1

1

3

6

1

1

\$10.50

\$10.50

\$13.00

\$10.00

\$19.50

\$18.00

\$10.50

\$10.50

\$39.00

\$60.00

\$19.50

\$18.00

0

0

0

0

0

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

6.5" Tropical Assorted in Ceramic

6.5" Tropical Foliage in Ceramic with Pot Stand

6.5" Tropical Philodendron Hastatum Grey Totem

6.5" Tropical Assorted in Tin

8" Centerpiece Bowl - Tropical

**Tropical Basket Centerpiece**